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Classwork. 
Problem Statement:

Building a certain type of  infrastructure requires a number of  
months that depends on the city in which we decide to place 
the infrastructure.

Each type of  building has a different cost of  construction per 
month



Classwork. 
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Example. 
The cost of  building a residential unit in Seattle is: 

2 x 15000 
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Classwork. 
Problem Statement:

If  an infrastructure is built in a city, the average revenue is:

The constructor has to decided wether to place (1) or not (0) 
a unit in the corresponding city

No more than 80 months



Create an xls files with the problem data as follows:



Add decision variables



Add decision variables

This must be the sum  of…



Add decision variables

This must be the sum  of…



Add decision variables

Name all these cells as Assignments



First select all the range, then right-click on the selection 
and click on “Define Name”

Call them DECISION_VARIABLES



First select all the range, then right-click on the selection 
and click on “Define Name”

Call them MONTHS





Add below individual costs to compute total costs











The solution.


